Accounting 1B Tutorial  # 3, (Week 4)
Questions:

Q.10
No real reason for transferring undistributed profits to reserve, except perhaps to reduce the balance of undistributed profits.  Simply a redistribution of profits within the owner's equity section.  No movement of cash or other assets are involved, it is simply a book entry.


Directors appropriate profits in order to inform shareholders and others about the likelihood of future dividends.  Net Profit is transferred to a Profit and Loss Appropriation account and then allocated to reserves of various types.  Those reserves may carry names that indicate whether or not that part of the profit is ever likely to be available for distribution as a dividend.  (Consider also anticipated losses, contingent liabilities.)

Q.11
Revenue reserves arise from operations


Capital reserves arise form non-operating activities e.g. revaluations of assets, capital contributions in excess of par


Revenue reserves:
General reserve



Plant Maintenance Reserve


Capital reserves:
Share Premium reserve



Asset Revaluation reserve

Q.12
1.
Interim dividends can be declared and paid without being ratified at the annual general meeting (in Aust. final dividends do not require S/H approval).

2. Interim dividends are not directly a reduction of the P/L appropriation account, i.e. interim dividends are recorded via an account 'interim dividends' before transfer being transferred to and reducing the P/L appropriation account

3. Directors can declare and pay interim dividends if they believe there will be adequate profits to cover them, but final dividends can only be declared if adequate profits (past or present) exist.

4. The accounting for interim dividends occurs both during the year when the interim dividend is declared and paid, and at year end when the dividend is recognised as reducing P/L appropriation whereas the recognition of the final dividend is at year end and then the reduction of dividend payable occurs when the dividend is actually paid (after the annual general meeting)

Q.13
The dividend payable will be present because any final dividend declared cannot be paid until the annual financial statements are ratified at the annual general meeting (which occurs some months after the end of the company's financial year).

Q.14
Profit and Loss Appropriation


Retained Profits


Retained Earnings


Unappropriated Profits


Accumulated Profits (Losses)


Undistributed Profits


These terms are used in various texts to refer to that amount in owner's equity that represents past and present profits retained by the company.

Q.15
Fair value is that value which two parties agree is that amount upon which an exchange can be made.  Often the fair value is different to the book value of assets and liabilities particularly if market conditions change.


i.e
may be considered equivalent to a 'market value' - but not always available.


Explain '..arms length …' - many students not sure of meaning.

Re AASB 1013 Accounting for Goodwill - extract

13.1
Definitions
fair value 
means the amount for which an asset could be exchanged between a knowledgeable, willing buyer and a knowledgeable, willing seller in an arm's length transaction.
Q.16
When an acquiring company acquires "second hand" assets, i.e. assets which have already depreciated somewhat, the acquiring company is acquiring them at a cost which is not the original historical cost but which is nonetheless the historical cost to the acquiring company.  As such, the asset is recorded at its 'second hand' historical value which at the time of purchase has no accumulated depreciated attached.

Q.17
Any entity, which controls another entity (a subsidiary), must prepare consolidated accounts.


(Note: we assume  50% + 1 share in Accounting 1B)

Exercise 13

X Co. Ltd

As a minimum the following should be mentioned:

· Profit & Loss Appropriation Account may have had debit balance at the start of the year (ie => Accumulated Losses).

· Insufficient cash available or may have a significant adverse effect on the company's liquidity (dividend payment => cash outflow).

· Retain profits to take advantage of identified investment opportunities, repay loans, etc. (eg particularly where there is a Dividend Reinvestment plan => retain funds, but distribute franking credits to S/H)

· Debt convenants contained in loan agreements, that limit the dividend payout (eg fixed maximum amount or ratio).

Ex.14
	
	
	DR
	CR

	(a)
	DR
P/L


CR
Retained Profits
	
1,750,000
	
1,750,000

	(b)
	1. Writeback Acc. Deprec. to asset a/c

DR       Accumulated depreciation - Buildings

            CR Buildings
	1,500,000


	
1,500,000

	
	2. Revalue asset to desired amount

DR
Buildings


CR
Assets Revaluation Reserve

=> future depreciation based on revalued amount
	
3,000,000
	
3,000,000

	(c)
	DR
Retained Profits


CR
General Reserve
	
400,000
	
400,000

	
	DR
Plant Maintenance Reserve


CR
Retained Profits
	
1,000,000
	
1,000,000

	(d)
	DR
Share Premium Reserve


CR
Preliminary Expenses
	
250,000
	
250,000

	(e)
	DR
Interim Dividend


CR
Cash

Or could be a two step process…
	
200,000
	
200,000

	
	DR
Retained Profits


CR
Interim Dividend
	
200,000
	
200,000

	
	DR
Retained Profits


CR
Final Divid. Payable
	
300,000
	
300,000


	Profit and Loss Appropriation

	30/6/93
	General Reserve
	
400,000
	1/7/92
	Balance (begin)
	
1,800,000

	
	Interim Dividend
	
200,000
	30/6/93
	P/L
	
1,750,000

	
	Final Divid. Payable

	
300,000
	
	Plant Maint. Res.
	
1,000,000

	
	Balance (end)
	
3,650,000
	
	
	

	
	
	
4,550,000
	
	
	
4,550,000

	
	
	
	
	Balance (end)
	
3,650,000


Exercise 23


	
	
	
	
	A
	
	

	
	
	
	60%
	
	40%
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	B
	
	20%
	
	C

	
	60%
	
	
	
	
	

	
	
	
	
	40%
	
	

	
	
	
	
	
	
	

	D
	
	
	
	E
	
	

	
	
	
	
	
	
	

	
	75%
	
	
	
	
	

	
	
	
	
	
	
	

	F
	
	
	
	
	

	Note: Assuming > 50% ownership required for control.


	Include
	B Ltd
	-
	direct control

	
	C Ltd
	-
	direct & indirect

	
	D Ltd
	-
	indirect via direct control B

	
	F Ltd
	-
	indirect via direct control 

	
	
	
	of B & via indirect of D


Exercise 23 cont.
	Outside Equity Interest
	Company A's interest

	A Ltd.
-
	
1.0
100%

	B Ltd.
40%
	
0.60
60%

	C Ltd.
48%
	
0.4 + 0.6 x 0.2 = 0.52
52%

	D Ltd.
64%
	
0.6 x 0.6 = 0.36
36%

	F Ltd.
73%
	
0.6 x 0.6 x 0.75 = 0.27
27%


$200,000 dividends paid by F

A Coy. shareholders receive (potentially - assumes all dividends received passed on as dividends to respective shareholders)

0.6 x 0.6 x 0.75 x $200,000  

=  0.27  x  200,000

=  $ 54,000
Exercise 24
Pre-control adjusting entry:

	
	DR
	CR

	Paid Up Capital
	100,000
	

	Reserves
	20,000
	

	Retained Profits
	15,000
	

	*
Goodwill on Acquisition
	25,000
	

	

Investment in Branch Ltd.
	
	160,000


* Goodwill

	Purchase Consideration
	
	$160,000

	Fair Value of Net Assets
	
	

	Assets
	170,000
	

	Less Liabilities
	    35,000
	

	Fair Value of Net Assets
	
	135,000  

	
	
	

	* Goodwill on Acquisition
	
	$    25,000


Exercise 24  - Consolidated Worksheet

	
	Tree
	Branch
	Adjustments
	Consolidated

	
	
	
	Dr
	
	Cr
	

	
	$
	$
	$
	
	$
	$

	Assets
	
	
	
	
	
	

	Cash
	15,000
	10,000
	
	
	
	25,000

	Accounts Receivable
	40,000
	25,000
	
	
	
	65,000

	less Prov. Doubt Debts
	(7,000)
	(5,000)
	
	
	
	(12,000)

	Plant & Equip. (net)
	22,000
	30,000
	
	
	
	52,000

	Land
	100,000
	110,000
	
	
	
	210,000

	Invest. In Branch
	160,000
	
	
	1
	160,000
	-

	Goodwill on Acquisition
	
	
	25,000
	1
	
	25,000

	
	
	
	
	
	
	

	
	330,000
	170,000
	
	
	
	365,000

	Liabilities
	
	
	
	
	
	

	Loan
	110,000
	35,000
	
	
	
	145,000

	
	
	
	
	
	
	

	Shareholders' Equity
	
	
	
	
	
	

	Paid-up Capital
	150,000
	100,000
	100,000
	1
	
	150,000

	Reserves
	50,000
	20,000
	20,000
	1
	
	50,000

	Retained Profits
	20,000
	15,000
	15,000
	1
	
	20,000

	
	220,000
	135,000
	
	
	
	220,000

	
	
	
	
	
	
	

	
	330,000
	170,000
	
	
	
	365,000
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